ER-IERRREE-RR

SHTEs 2B RE
SEXEE BAMERRE

HEFHR = R
REEAT —RAHEHE RER
TR EZEFEOME |ZEF
X7 (GBKE) RER=EHEE |30
(EWKE) |TERSEREE (245
i mEEHREE |FiR)IRE=307
#ok EE = =
BRI T®R |
IZkDE%E
3R - . fE 20m/s
RA FHNE fi: 25m/s
= T ; fEE 20m/s EFHS
RES FHRE L 25m/s EBEHED
AE FFEDES 1285 E DFES10cm
KR E ) 6.0m
= 80 B4 2.1m
X7 REMEEHEE |28
TIEREEHEALE (181
i mEEHREE |FiR)IRE=245
#ok EE = =
BRI T®R |
IZkDE%E
W . fEE 12m/s
SR A T RE B 15m7/s
= T , fEE 12m/s BFH#ES
RS FHRE WL T5m/s BEHES
AE BEEDRS 1285 EEE D iFES5cm
KR GEY T 3.0m
=i AL 1.2m
EEIR £ EEFICKYBEENTEINSEE
BE
- gm o Rt 100m
=& 1Rig B 500m
R B/INEE40% TERNTE60%
BEEDFEIMN0cmU EHYRDOLT b
I 1 BEOFE20cmiLE
- 2 mEsiEM2°CLlE
3 MEYDRER
3 BIESE-4CUT*?
i BaFEHl mIESIR3CUT
Bk
EE 24F5 I E MRS :20cm il Lk
- SR :-2°C~2°C
R L PN EEmE [120mm

NEREREEYN RERSIER OHEASHhEICLSREEERLTILET.

*2 =E
X\/m

TSI TR E DIE,



